

Presenter
Presentation Notes
This presentation will explain how a worker’s prior wages determine whether the worker can qualify for a claim for unemployment benefits…
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Presenter
Presentation Notes
… and how the law determines the worker’s weekly unemployment benefit amount, and the number of weeks of benefits payable.
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Presenter
Presentation Notes
When a worker files a new claim for benefits (because the worker does not still have a former claim in existence), the law requires the Unemployment Insurance Agency (UIA) to look at the wages the person was paid during the “Base Period” of the claim.  The “Base Period” is made up of previously completed “Calendar Quarters.”  There are four calendar quarters in a year.  The first quarter runs from January through March; the second calendar quarter runs from April through June; the third calendar quarter goes from July through September; and the fourth calendar quarter is from October through December. 
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er files a claim on April 12, 2010.
That date is in the second calendar quarter of the

year (April through June).


Presenter
Presentation Notes
Let’s take a case where the worker files a new claim on April 12, 2010.  That date is in the second calendar quarter of 2010. 
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Presenter
Presentation Notes
The UIA must look at wages paid to that worker during the first 4, of the last 5, completed calendar quarters.  The last calendar quarter prior to the filing was the quarter ending March 31, 2010, which was the first calendar quarter of 2010.  That quarter is called the “Lag Quarter” and is not usually counted in the quarters used to establish a claim.  Because employers’ reports of wages are not due until the 25th of the month following the end of the calendar quarter, wages for the first quarter of 2010 are not due until April 25, and would probably not be reported to the UIA yet, at the time the worker filed the claim on April 12. 
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as the “Lag Quarter” and is usually not used.)



Presenter
Presentation Notes
We’ll first take a look at wages the worker was paid in the “Standard Base Period” which does not include the “Lag Quarter.”  As we’ll see later in this Webcast, if the worker lacks sufficient wages in the “Standard Base Period,” then the UIA inquires about wages in the Lag Quarter and may be able to set up a claim using those wages.
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Presenter
Presentation Notes
To have enough wages to set up a claim, the worker must have worked in at least two quarters in the base period, and must have gross wages in the quarter with the highest wages of at least $2,871.  
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Presenter
Presentation Notes
If the worker meets that requirement, then the high quarter wages are multiplied by 1½ (1.5) to see if the worker meets the third requirement, which is that gross wages in the entire base period are at least 1½ times the high-quarter wages.
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et’'s say a worker earns the wages shown. In

Quarter 1 of the “Base Period” the worker Is paid
a total of $3,002 from Employers A and B.


Presenter
Presentation Notes
Here’s an example with wages filled in, to show how all this works.  Gross wages from all the employers the worker worked for in a calendar quarter are combined to show total gross wages for that quarter.  Here, in the first quarter, the combined gross wages were $3,002 from Employers A and B.
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N Quarter 2 of the “Base Period” the

worker is paid a total of $3,835 from
Employers B and C.



Presenter
Presentation Notes
In the second quarter, the total gross wages for this worker were $3,835.


WAG

— -
—2

~ BENEFITS

N Quarter 3 of the “Base Period” the
worker is paid $1,458 by Employer C.
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Presenter
Presentation Notes
The worker had just one employer in the third quarter of the base period, with wages of $1,458.
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N Quarter 4 of the “Base Period” the
worker is paid $1,329 by Employer D.


Presenter
Presentation Notes
Wages in the fourth quarter were $1,329.
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S base period, the
worker was paid wages of $9,624. That is more
than 1% times the worker’s high quarter wages of
$3,835. The worker’s wages will qualify the
worker for a claim, based on wages.


Presenter
Presentation Notes
The worker’s high quarter wages were $3,835 (exceeding the minimum required of $2,871), and total gross wages in the entire 4 quarters of the base period exceeded 1½ times high quarter wages, so this worker is qualified for a new claim, on the basis of wages.
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ages are still $3,835, but the wages in quarters 1
through 4 of 2009 now total only $5,145, which is
less than 1% times this worker’s high quarter

wages.
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Presenter
Presentation Notes
Now let’s change the numbers a little.  The worker’s high quarter wages will still be $3,835, but now the total gross wages in all 4 quarters of the base period are only $5,145, which is less than 1½ times the worker’s high-quarter wages.  With these numbers, this worker would not qualify for a claim.   
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Quarter” which is the first quarter of 2010.



Presenter
Presentation Notes
We’ll have to take a look, in that event, at the worker’s wages in the “Lag Quarter” which in this example is the first calendar quarter of 2010.  
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Presenter
Presentation Notes
Counting those “Lag Quarter” wages, the worker could qualify because adding in the wages from Employer E brings the total base period wages to more than 1½ times the high-quarter wages.  The claim is therefore set up using the “Alternate Base Period” which is the period of 4 quarters that INCLUDES the “Lag Quarter.”  The wages from the Lag Quarter are used ONLY if the worker could not qualify at all using the Standard Base Period because the wages in the Standard Base Period were insufficient. 
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case, the “Alternate Earnings Qualifier” will be used to see if the
worker qualifies for benefits using that method.



Presenter
Presentation Notes
I’m going to change the numbers again now.  Let’s say the worker had wages in at least two calendar quarters, but either lacked high quarter wages of at least $2,871, or lacked total base period wages of at least 1½ times the high-quarter wages.  Here, the high quarter wages were $12,589, but the total base period wages were only $17,829, less than 1½ times the high-quarter wages.  
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s with wages in at least two quarters, if the total
wages In the base period total at least 20 times the State Average
Weekly Wage. In 2010, the State Average Weekly Wage is $828.73.
Twenty times that amount is $16,574.60. This worker’s wages exceeded
that amount, and the worker qualifies using this method.


Presenter
Presentation Notes
In that situation, the law requires the UIA to check to see if the worker can qualify for benefits using the “Alternate Earnings Qualifier.” The “Alternate Earnings Qualifier” requires the worker to have wages in at least two of the calendar quarters in the Base Period, and requires that the worker’s gross wages in the entire 4 quarters of the Base Period totaled at least 20 times the State Average Weekly Wage.  The State Average Weekly Wage changes every year, but in 2010 it is $828.73.  Twenty times $828.73 is $16,574.60.  So, in this example, using the Standard Base Period, the worker qualifies using the “Alternate Earnings Qualifier.”
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Presenter
Presentation Notes
One last change in the numbers now.  If the worker lacked sufficient wages in the “Standard Base Period” using the ”Alternate Earnings Qualifier,” the UIA must look to see if the wages in the “Alternate Base Period” were sufficient for the worker to qualify using the “Alternate Earnings Qualifier.” 
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ated by taking 4. 1% of the worker’s high quarter wages.

In this case, the high quarter wages are $3,835. So, the
worker’s weekly benefit would be $157.00 ($3,835 x .041 =
$157.235, rounded down to the next lower dollar).



Presenter
Presentation Notes
Now let’s turn to how  the Weekly Benefit Amount is calculated.  We find the calendar quarter in which the worker had the highest wages.  In this example, that will be the second calendar quarter of 2009, with total gross wages of $3,835 from the two employers that paid the worker wages in that quarter.  We first multiply those high-quarter wages by 4.1%, and round the result down to the next lower dollar amount.  $3,835 x .041 = $157.235, rounded down to $157.  


L e

= S1TIRIN

-~ BENEFITTAMOUNT

NS =R =TS

e

B

QUARTER | QUARTER | QUARTER | QUARTER | QUARTER | QUARTER
1 of 2009 2 of 2009 3 of 2009 4 of 2009 1 of 2010 2 of 2010
Employer A | Employer B =
$1,523 $2,983 Employer C | Employer D Lag Claim
Employer B | Employer C e il Quarter Filed
51,479 $852 —
T —

, Up to 5 dependents, is
added to the weekly benefit amount. If this claimant had 3

dependents, $18.00 more dollars would be added to the
$157.00 amount, resulting in a weekly benefit amount of

$175.00. The cap is $362.00.


Presenter
Presentation Notes
An additional $6.00 is paid per dependent, up to 5 dependents.  That’s an additional $18 for this claimant’s 3 dependents, for a total weekly benefit amount of $175.  However, regardless of how the calculation comes out,  the weekly benefit amount is capped by law at $362.00.


FIGURJNG THE

MU

) —
_)'_'J_

Qr

QUARTER QUARTER QUARTER QUARTER QUARTER QUARTER
1 of 2009 2 of 2009 3 of 2009 4 of 2009 1 of 2010 2 of 2010
Employer A | Employer B
$1,523 $2,983 | Employer C | Employer D Lag Claim
$1,458 $1,329 -
Employer B | Employer C Quarter Filed
$1,479 $852
T —
and divide

e worker’s calculated weekly benefit amount.
Round the result down to the next lower half-
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the maximum can’t exceed 26.

But the minimum can’t be lower than 14;



Presenter
Presentation Notes
To figure the number of weeks of benefit payable on the claim, we take 43% of the worker’s total gross wages in the Base Period of the claim, and divide the result by the worker’s weekly benefit amount that we just calculated.  The result is rounded down to the next lower ½ number.  That will be the maximum number of weeks payable on the claim.  But regardless of the calculation, the minimum number of weeks cannot be lower than 14, and the maximum cannot be greater than 26.   
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5.00 = 23.65 rounded down to the next

So this worker could draw regular state unemployment
benefits for up to 23% weeks.



Presenter
Presentation Notes
Forty-three percent (0.43) of this worker’s total gross wages in the base period is $4,138.32.  Dividing that number by the worker’s weekly unemployment benefit rate, and rounding the result down to the nearest ½ number gives a result of 23½ weeks of benefits. 
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We now know that, based on past wages,

this worker gualifies for benefits, and that

the weekly amount will be $175 (lessrany.

reductions for earnings), and that benefits

can be paid for up to 232 weeks: If the ,
ﬂ@fker maintains eligibility.for benefits ~

. T —
’*ese penefits are paid within'the 52-week

“Benefit Year” that begins the week the new
claim is filed, and extends forward 52
weeks.


Presenter
Presentation Notes
The 23½ weeks of benefits are payable to this worker within the 52-week “Benefit Year” established when the worker filed the new claim for benefits, as long as the worker maintains weekly eligibility for benefits by being able to work, available for work, and seeking work as required.  The weekly benefit amount can be reduced by earnings for the claimed week.  The worker has a 52-week “Benefit Year” to draw those benefits.  Benefit cannot be paid on that claim once the 52-week period has expired.  A new Benefit Year cannot be established before a previous one has expired.   
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